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Final Exam Answer Sheet
1. What is the rationale behind Deming’s statement “Cease dependence on mass inspection”? (2 Points)

The rationale behind Deming’s statement “Cease dependence on mass inspection” is that inspection comes too late and is costly. Therefore, focus shall be on improving the process itself.

2. What is the purpose of using “Lean Service”? What are the 3 guiding principles in lean service? (4 Points)

The purpose of using “Lean Service” is to have continuous rapid flow of value-adding activities in order to satisfy customer needs. Therefore, the 3 guiding principles in lean services are as follows:

· Satisfy the needs of the customer by performing only those activities that add value in the eyes of the customer.

· Define the “value stream” by flowcharting the process to identify both value-added and non-value-added activities.

· Eliminate waste. Waste in the value stream is any activity for which the customer is not willing to pay.

3. When managing uncertainty, how can firms anticipate manufacturing reliability variance and, hence, overcome it?  (2 Points)

When managing uncertainty, firms can anticipate manufacturing reliability variance in the following manners:

· Over time, establish a distribution of delivery performance punctuality for each supplier.
· Consider those very distributions when negotiating purchases with suppliers.

· Establish and use historical probability distributions of on-time performances.

4. What is the implication to the fact that all services act on something provided by the customer? (2 Points)

The implication to the fact that all services act on something provided by the customer is that customers are acting as suppliers in the service process. This is what is referred to as the customer-supplier duality.

5. How can franchisee autonomy affect image and branding of the franchiser? (2 Points)

The more a franchiser allows its franchisees “Franchisee Autonomy” (i.e. the amount of freedom that is permitted in the operation of the unit), the less control it would have on the operations. Therefore, the higher is the probability that the image and the brand of the company would be damaged.
6. What issues have to be addressed when service managers seek to find ways in which electronic means can be used to beat the clock? (2 Points)
Issues that have to be addressed when service managers seek to find ways in which electronic means can be used to beat the clock are as follows:

· Effect on economies of operations.

· Accessibility by foreign and domestic customers.
· Supportability of time-based completion in operations.

· Incremental creativity available in the process without slowing it down.

7. During the past season, Mara Resort Hotel did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.10
	0
	0.00

	1
	0.09
	1
	0.10

	2
	0.08
	2
	0.19

	3
	0.10
	3
	0.27

	4
	0.12
	4
	0.37

	5
	0.11
	5
	0.49

	6
	0.10
	6
	0.60

	7
	0.09
	7
	0.70

	8
	0.08
	8
	0.79

	9
	0.07
	9
	0.87

	10
	0.06
	10
	0.94


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 70.
a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected Number of No Show Rooms = (0 * 0.10) + (1 * 0.09) + (2 * 0.08) + (3 * 0.10) + (4 * 0.12) + (5 * 0.11) + (6 * 0.10) + (7 * 0.09) + (8 * 0.08) + (9 * 0.07) + (10 * 0.06) = 0 + 0.09 + 0.16 + 0.30 + 0.48 + 0.55 + 0.60 + 0.63 + 0.64 + 0.63 + 0.60 = 4.68 Rooms.

b) Calculate the Expected Opportunity Loss. (1 Point)
· Expected Opportunity Loss = 4.68 * 70 = $ 327.60.

In order to avoid some of this loss, Mara Resort Hotel management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Mara Resort Hotel has made arrangements with a nearby Resort Hotel (Clara Resort Hotel) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 125 per turned out guest.
c) Fill the below Overbooking Loss Table (4 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.10
	$0
	$125
	$250
	$375
	$500
	$625
	$750
	$875
	$1,000
	$1,125
	$1,250

	1
	0.09
	$70
	$0
	$125
	$250
	$375
	$500
	$625
	$750
	$875
	$1,000
	$1,125

	2
	0.08
	$140
	$70
	$0
	$125
	$250
	$375
	$500
	$625
	$750
	$875
	$1,000

	3
	0.10
	$210
	$140
	$70
	$0
	$125
	$250
	$375
	$500
	$625
	$750
	$875

	4
	0.12
	$280
	$210
	$140
	$70
	$0
	$125
	$250
	$375
	$500
	$625
	$750

	5
	0.11
	$350
	$280
	$210
	$140
	$70
	$0
	$125
	$250
	$375
	$500
	$625

	6
	0.10
	$420
	$350
	$280
	$210
	$140
	$70
	$0
	$125
	$250
	$375
	$500

	7
	0.09
	$490
	$420
	$350
	$280
	$210
	$140
	$70
	$0
	$125
	$250
	$375

	8
	0.08
	$560
	$490
	$420
	$350
	$280
	$210
	$140
	$70
	$0
	$125
	$250

	9
	0.07
	$630
	$560
	$490
	$420
	$350
	$280
	$210
	$140
	$70
	$0
	$125

	10
	0.06
	$700
	$630
	$560
	$490
	$420
	$350
	$280
	$210
	$140
	$70
	$0

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	327.60
	277.10
	244.15
	226.80
	228.95
	254.50
	301.50
	368.00
	452.05
	551.70
	665.00

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 3 rooms shall be overbooked, since, this very scenario yields the least expected loss.
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
8. Provide an example to illustrate how “creating adjustable capacity” can be a solution to demand variability. (2 Points)
· Airlines frequently move the partition between first class and coach to meet the changing mix of passengers.
· Preforming supportive tasks during slower periods of demand while concentrating on essential tasks during rush periods.

Good Luck
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